
Aire et Volume d’un Cône (B)
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 19,36mm

h = 53,44mm

•

1.

r = 32,86mm

h = 176,70mm

•

2.

r = 51,30 dm

h = 125,70 dm

•

3.

r = 59,04 nm

h = 111,78 nm

•

4.
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Aire et Volume d’un Cône (B) Réponses
Calculez l’aire et le volume de chaque cône.

Aire = πr(r +
√
h2 + r2) Volume = πr2

h

3

r = 19,36mm

h = 53,44mm

•

1.

Aire: 4634,50mm2

Volume: 20.975,18mm3 r = 32,86mm

h = 176,70mm

•

2.

Aire: 21.946,19mm2

Volume: 199.802,21mm3

r = 51,30 dm

h = 125,70 dm

•

3.

Aire: 30.148,11 dm2

Volume: 346.416,54 dm3 r = 59,04 nm

h = 111,78 nm

•

4.

Aire: 34.397,93 nm2

Volume: 408.023,73 nm3
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